@ IF 2 series

BB iF0iS 2 with bearing mounted hub
H
J |
3| ~ -2 N2
f
8 ' |
oo, |k M 1 alw 8l ol m
| 595
_groove .
N1 m
*LL L 4-90p
B 5% MODEL CF20S6AA | CF21S5AA | CF22S5AA | CF2005AA | CF2010AA | CF2020AA | CF2040AA
BEEBE emom | 055(55) | 1.1(11) | 22(22) | 45(45) 9(90) | 17.5(175) | 35 (350)
?yﬂnﬁ F%ﬁﬁfqﬁue [kemlNm) | 0.5 (5.0) 1.0 (10) 2.0 (20) 4 (40) 8 (80) 16 (160) | 32 (320)
INZE Power [24VI(W) at 20°C 11 15 20 25 35 45 60
A 63 80 100 125 160 200 250
B 67.5 85 106 133 169 212.5 264
C1 80 100 125 150 190 230 290
v C2 72 20 112 137 175 215 270
C3 35 42 52 62 80 100 125
73 D 12 15 20 25 30 40 50
= E 33 37 47 52 62 74.5 101.5
Radius F 23 28 40 45 62 77 100
S 38 45 55 64 75 90 115
U 39.5 47 57 67 78 93.5 118.5
Y 5 6 7 7 9.5 9.5 11.5
H 24 26.5 30 33.5 37.5 44 51
J 3.5 4.3 5 5.5 6 7 8
K 2 25 3 3.5 4 5 6
L 51.55 60.3 70.9 86.8 104 124.2 145.5
M 22 24.1 27 30 34 39.15 47.15
) N1 20 25 30 40 50 60 70
N2 2 25 3 2 3 5 6
73 P 7.5 9.5 8.9 9.5 9.5 10.5 15.5
= w 4 5 5 7 7 10 12
Shaft Z1 3-120° 4-90° 6-60° 4-90° 8-45°
Z2 60° 60° 45° [ 45° 30° 45° 2250
m 3-M4*0.7P*4L | 3-M4*0.7P*6L 4-M4*0.7P*8L 6-M5*0.8P*8L | 4-M6*1P*12L | 8-M6*1P*12L
a 0.2 (*005) 0.3 (51°) 0.5 (32)
b 4 5 5 7 7 10 12
t 1.8 2.3 23 3.3 3.3 3.8 3.8
B8 Weight (kg) 0.66 1.19 2.11 3.8 6.9 13 23.6
{RFEFRT Protective device | 07D470K 07D470K 10D68OK 14D68OK 20D680K




